H & 0l & AHS B Ml A

NE: HFHSHUTH(LHD)
CHol: pISR AT (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 745,026 743,501 1,525
HAY 2SN (ZH) 205,316 226,731 A21,415
HAY 2SN 205,316 226,731 N21,415
Y= = A& 174,277 197,071 NP2, T
201 fer= 3| 53,817 75,111 N21,2%4
01 At 2|l 36,480 28,080 8,400
0 &Bt~Sd| 26,400
O % 28 S+
11,100,000 14} 11,100
O plpial ®X| PS2(Y, =, )
15,0002 9%+ 122 1,620
O A ZHI2 50,0002 +8Z+38] 1,200
O HHNDRE(ZARX, T2, 28 S
) 50,0008 *75+122] 4,200
O &M 7Y 30,0002 x4 E+52] 600
O #HYFHI(BRE, ZlH, SAD| 8) &
72 =&l 360,000 *4CH*43] 5,760
O RIZHIANAEZCIES =25
160,000& «12& 1,920
O gxz 10,080
O F=Dl 2Xz & A=
70,0008 25123 1,680
O #0Pts 2A=XAMHIA IS
700,000 «1CH* 122 8,400
2 352484l 17,337 47,031 N29,694
0 2223 < MAl 17,337
O 28z 2,530 #8521 %12 2,581
O stedstz 5,500+ 122 66
O 2HASEMNEZ 121,000& * 122 1,452
O &= 12,000
=0\ 600,000& 122 7,200
e A2 WSS
400,0002 12& 4,800
O &otekz 60,0002 «12& 720
O NVAEE 5,500 x3CH* 122 198
O KNSXHAl 50,0002 «2CH 100
O NsSA Atz 50,0002 <2CH 100
O aZid 2= 60,0002 1522 120
202 04| 37,240 37,240
01 =LHOLI 4,120 4,120
O ezl U 2oyl
80,0003 x4 H+82 2,560
O a=0eges 20,0002 x132+6& 1,560
02 X0 33,120 33,120 0
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M N SAUN|H (2R
CHol: pISR AT (chol @)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O N0l 230,000 x 12« 12E 33,120
301 LeEN= 79,720 79,720
o7 & - 01 - HEES24= 67,720 67,720
O olggs2ds 65,520
O =g 300,000 x14E 128 50,400
O 0= 300,000& x14&+23] 8,400
O 3le+=g 20,0002 x 14 22|« 12 6,720
O g¥as2as 25,0003 x44H+23] 2,200
11 EAAHIXIRES 12,000 12,000 0
[ S8s =EFFA |24
10,0003 502 x242] 12,000
405 XHAHE SHI 3,500 5,000 21,500
01 TR ESF SHI 3,500 5,000 21,500
O AIR4 80| &€ HIS 7Y
3,500,000& 14 3,500
A AIEEE |2 31,039 29,660 1,379
101 2124d| 14,699 13,320 1,379
M4 IRHHZ2Z2XSES 14,699 13,320 1,379
O EArze| Q=2 6,600
O Jl=s 550,000 x1& 128 6,600
O BA 38 2REY| o2y 6,600
O Jl== 550,000 «1H*12& 6,600
040 28 1,499
O d3=28= FE=
13,200, 0002 +3.6/100 476
O LeFNALZE= FE=
476,0002*12.27/100 59
O IpASEEE FEH=
13,200, 0002 *4.5/100 54
O 1828E 293
13,200, 0002 %1.8/100 238
O MIHEEE RY=
13,200,000 *1/100 132
201 Lt 12,340 12,340
02 S3=24gl 12,340 12,340
O A2 EHI= X 4,840
O At 3,000 »780m’ 2,340
O &EX 100,000& #52 500
O A28 ol Ea
1,000,000 *14] 1,000
O JIAZHIOIHE, HFI S)
50,0002 x5CH*43 1,000
0 Xhgk - dei 7,500

7,500
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M SIE ST (LA)
&l HAZ2HLXE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- =R 3,500,000 *1CH 3,500
- SXIXE 4,000,000 *1CH 4,000
206 MH=H| 4,000 4,000
01 M=4l 4,000 4,000
0 £2 72 300&%10,000= 3,000
O JIEH XbXH & 50,0002 10522 1,000
FRIHOIAI (2R D) 402,944 381,480 21,464
FREAAY 402,944 381,480 21,464
e SEEH Y FREAAS 100,784 79,320 21,464
101 21A4H| 30,784 29,320 1,464
04 JIZtN2 2N S 2 30,784 29,320 1,464
0 A-H SZEH & 453 22| FY
76,9603 x5 x40 16,392
0 2%a 2122 9 Js2e 22 ogy
76,9602 x5& x40 16,392
401 Al HIZ S 0HbI 70,000 50,000 20,000
01 AlZH| 70,000 50,000 20,000
0 A8 sFIEIAY =X
5,000,000& 42| 20,000
[ ZYBOIAIY 2227 U FOILERAY
=Xl 5,000,000 1024 50,000
SYIIEIAIE =5 - | 70,504 75,540 25,036
401 Al HIZL 2048 70,504 75,540 /5,036
01 Al&H| 70,000 75,000 /5,000
O 23y Ssie(ae2) 2 X 3A
10,000,000& * 14 10,000
O 28 cEe(=d) =2 X SAt
30,000,000 *14! 30,000
O Z23H 20H2|(F=) =2 ZHISA
30,000,000 * 14 30,000
03 Al 2 CHHI 504 540 A36
O AlZ =201 70,000,000& *0.72/100 504
A2 FEU=RAY 231,65 226,620 5,036
401 AIEHIX R0 231,65 226,620 5,036
01 AlZ2H| 230,000 225,000 5,000
O 3% 2112l =2 FHISAH
10,000,000& * 14! 10,000
O 23S &2l AtH ZHISA
30,000,000 * 14 30,000
O ZdH 2I122(LHS) =2 b3 A
20,000,000 * 14 20,000
O Z2&e 20132(E2S2) =2 EXISAM
20,000,000 * 14! 20,000
O 20 351RI(E2) S FHISA
30,000,000%*153 30,000
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M ZOIBOIAY (AR
ol FOIHAAISA (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O Z2dH TH12(R2) HEIBA
30,000,000 14! 30,000
[0 2&H TEHP2|(LA) OIAZE EXHIAL
30,000,000 *14! 30,000
00 2&H PR (BX2)s2EEIA
30,000,000 14! 30,000
[0 2&H 20122 (S4a2) U2 B3 A
30,000,000 14 30,000
03 AlE 2 CHYI 1,656 1,620 36
] A& =208l 230,000,000&0.72/100 1,656
HE2IHEH|(AAH) 136,766 135,290 1,476
ol 2| %,104 HA,568 1,536
OIHESAY|(ZAH) %,104 HA,568 1,536
101 2124 d| %,104 HA,568 1,536
S %, 104 9,568 1,536
O 2nh224g %, 104
O AtelZRey
12,3213 *13H +50A| 2H+ 12F 96,104
Jl2&l 40,662 40,722 AB0
Jl2dy(Z&H) 40,662 40,722 AB0
201 Ler23| 26,702 26,762 AB0
01 AtR2elt] 26,702 26,762 AB0
O 28+ 14,430
O =2d| 30,000% *1H 249 7,470
O 2| 60,0002 x1E 1162 6,960
[ S&t| 9,672
O A=01e & MolblA2R S
8,000 *13%8 93 9,672
O Xz 2,600
O d&H Fdl XA
150,000& *2CH*23| 600
O THoH=2ed ZulXt
2,000,000& * 14 2,000
202 0idl 1,440 1,440
01 =WO4bI 1,440 1,440
O HEE HEME=8s 0l
80,0003+ 183 1,440
203 HRF=&lY| 10,120 10,120
01 J|22H PR FA| 6,600 6,600
] ZdHE 550,000& = 12& 6,600
02 HRIMAARFXRIH| 520 520 0
O HNSAAD|EE 40,0002 13 520
M EA2IHRFALI 3,000 3,000 0
[ 2&™ 250,000 <128 3,000
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